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. The value of 6.007 + 2.02 is

(i) 8.127 (ii) 8.227 (iii) 8.027 (iv) 7.827 (v) 7.927

. The value of 20.013 + 63.5is

(i) 83.413 (ii) 83.313 (iii) 83.713 (iv) 83.613 (v) 83.513

. The value of 372.956 + 168.75 is

(i) 541.9060 (ii) 541.5060 (iii)) 541.7060 (iv) 541.8060 (v) 541.6060

The value of 8.001 + 5.4 is
(i) 13.301 (ii) 13.501 (iii) 13.601 (iv) 13.401 (v) 13.201

. The value of 19.081 + 63.064 is

(i) 82.145 (ii) 81.945 (iii) 82.245 (iv) 82.045 (v) 82.345

The value of 410.0448 + 234.03 is
(i) 644.0748 (ii) 643.9748 (iii) 644.2748 (iv) 643.8748 (v) 644.1748

The value of 69.7 + 57.5 is
(i) 127.3000 (ii) 127.1000 (iii) 127.4000 (iv) 127.0000 (v) 127.2000

The value of 9.08 — 2.02 is
(i) 7.26 (ii) 6.96 (iii) 7.16 (iv) 6.86 (v) 7.06

The value of 8.86 — 62.23 is
(i) -53.57 (ii) -53.37 (iii) -53.17 (iv) -53.27 (v) -53.47

The value of 75.086 — 75.048 is
(i) -0.062 (ii) -0.162 (iii) 0.238 (iv) 0.138 (v) 0.038

The value of 167.2 — 608.28 is
(i) -441.180 (ii) -440.980 (iii) -440.880 (iv) -441.280 (v) -441.080

The value of 3.01 X 10.7 is
(i) 32.307 (ii) 32.207 (iii) 32.107 (iv) 32.007 (v) 32.407

The value of 5.004 X 4.08 is
(i) 20.51632 (ii) 20.61632 (iii) 20.21632 (iv) 20.31632 (v) 20.41632

The value of 3.84 X 5.87 is
(i) 22.44080 (ii) 22.74080 (iii) 22.54080 (iv) 22.34080 (v) 22.64080
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The value of 8.048 X 3.7 is

(i) 29.5776 (ii) 29.8776 (iii)) 29.7776 (iv) 29.9776

The value of 2.9 + 3.4 is
(i) 0.85 (ii) 0.95 (iii) 0.65

The value of 6.1 = 4.75 is
(i) 1.28 (ii) 1.48 (iii) 1.38

The value of 41.1 + 54.07 is
(i) 0.76 (ii) 0.66 (iii) 0.86

The value of 49.9 + 76.5 is
(i) 0.45 (ii) 0.75 (iii) 0.85

The value of 8.1 + 5.9 is
(i) 1.47 (ii) 1.57 (iii) 1.27

The value of 71.3 + 29.04 is
(i) 2.26 (ii) 2.56 (iii) 2.46

The value of 10.1 + 81.21 is
(i) 0.12 (ii) 0.32 (iii) -0.08

82.6 + =177.4
(i) 96.8 (ii) 93.8 (iii) 94.8

45.65 + = 91.63

(i) 44.98 (ii) 45.98 (iii) 43.98

97.1 + =111.8
(i) 16.7 (i) 13.7 (iii) 12.7

33.67 + = 35.40
(i) 0.73 (ii) -0.27 (iii) 2.73

90.399 + = 188.456
(i) 99.057 (ii) 96.057 (iii)

95.9336 + = 191.2519

(i) 96.3183 (ii) 94.3183 (iii) 95.3183 (iv) 97.3183

35.7 - =-52.1
(i) 86.8 (ii) 85.8 (iii) 88.8

47.03 — =-32.90

(i) 80.93 (ii) 78.93 (iii) 77.93

(iv) 1.05 (v) 0.75
(iv) 1.18 (v) 1.08
(iv) 0.56 (v) 0.96
(iv) 0.65 (v) 0.55
(iv) 1.37 (v) 1.17
(iv) 2.66 (v) 2.36
(iv) 0.02 (v) 0.22
(iv) 92.8 (v) 95.8
(iv) 47.98 (v) 46.98
(iv) 14.7 (v) 15.7
(iv) 3.73 (v) 1.73
97.057 (iv) 100.057
(iv) 87.8 (v) 89.8
(iv) 79.93 (v) 81.93

(v) 29.6776

(v) 98.057

(v) 93.3183
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33.849 — = -26.455
(i) 61.304 (ii) 62.304 (iii)) 59.304 (iv) 58.304 (v) 60.304

35.1017 - =-27.0938
(i) 64.1955 (ii) 61.1955 (iii) 62.1955 (iv) 63.1955 (v) 60.1955

42.7 x =1678.1
(i) 39.3 (ii) 40.3 (iii) 37.3 (iv) 41.3 (v) 38.3

85.94 x = 1324.34
(i) 13.41 (ii) 15.41 (iii) 16.41 (iv) 17.41 (v) 14.41

18.065 X% = 583.752
(i) 30.314 (ii) 32.314 (iii) 34.314 (iv) 33.314 (v) 31.314

84.2382 x = 1962.2867
(i) 21.2945 (ii) 23.2945 (iii) 22.2945 (iv) 24.2945 (v) 25.2945

1846.3 + =211
(i) 88.5 (ii) 89.5 (iii)) 86.5 (iv) 85.5 (v) 87.5

-131.77 + =-1.44
(i) 92.51 (ii) 89.51 (iii) 93.51 (iv) 90.51 (v) 91.51

82.987 + = 14.390
(i) 4.767 (ii) 3.767 (iii) 6.767 (iv) 5.767 (v) 7.767

2281.4472 + =67.5390
(i) 33.7797 (ii) 31.7797 (iii) 34.7797 (iv) 35.7797 (v) 32.7797

1382.8 + = 38.2
(i) 34.2 (ii) 38.2 (iii) 36.2 (iv) 37.2 (v) 35.2

6323.05 + = 75.06
(i) 85.24 (ii) 83.24 (iii) 84.24 (iv) 86.24 (v) 82.24

524.760 + =16.091
(i) 31.612 (ii) 33.612 (iii) 30.612 (iv) 32.612 (v) 34.612

475.8716 + = 96.8932
(i) 2.9113 (ii) 3.9113 (iii) 4.9113 (iv) 6.9113 (v) 5.9113

Which of the following is true?

(i) 0.5+0.4=0.20 (ii)) 0.6—0.1=0.7 (iii) 0.8—0.2=1.0 (iv) 0.7%x0.6=1.2 (v) 0.8%X0.1=0.08

Which of the following is true?

(i) 0.9x0.6=1.5 (ii) 0.8+0.7=0.1 (iii)) 0.6+0.1=0.7 (iv) 0.8+0.1=0.7 (v) 0.8%x0.4=2.0
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Which of the following is true?

(i) 0.5-0.1=0.6 (ii) 0.5%0.1=0.05 (iii)) 0.7+0.2=0.5 (iv) 0.8+1.0=-0.2 (v) 0.9+0.5=0.4

Which of the following is true?

(i) 0.09+0.01=0.0009 (ii) 0.05%0.02=2.50 (iii) 0.09%0.06=0.0054 (iv) 0.08x0.07=1.14

(v) 0.08%x0.02=4.00

Which of the following is true?

(i) 0.006—0.001=0.005 (ii) 0.003+1.000=-0.997 (iii) 0.007%x0.002=3.500 (iv) 0.001-1.000=1.001

(v) 0.006%0.004=1.500

Which of the following is true?

(i) 0.0005-0.0002=0.0003 (ii) 0.0007%0.0002=3.5000 (iii) 0.0003—0.0001=0.0004

(iv) 0.0008-0.0003=0.0011

Which of the following is true?

(i) 60.9+26.4=34.5 (ii) 14.3x4.1=3.5 (iii) 21.0x9.3=195.30 (iv) 92.2+7.3=673.06

(v) 100.4+24.7=75.7

Which of the following is true?

(i) 58.96+37.31=21.65 (ii) 89.18—-12.39=101.57 (iii) 49.03+48.58=97.61 (iv) 55.22+12.56=42.66

(v) 83.79+28.93=2424.0447

Which of the following is true?

(i) 59.132-20.367=79.499 (ii) 94.583%43.628=2.168 (iii) 92.377%x75.435=6968.458995

(iv) 69.756—16.131=85.887 (v) 63.944+46.677=17.267

Which of the following is true?

(i) 58.9527+57.1732=3370.51450764 (ii) 83.7339-72.1736=11.5603
(iii) 50.1930+40.9962=2057.72226660 (iv) 69.5521+8.2528=61.2993

(v) 87.9295+31.8206=2797.96944770
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